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Question:  COMPETITIVE ISSUES PHASE





	With reference to the circumstances described in Mr. Gordon’s statement, 1. 18-21, p. 25 (rebuttal testimony):  If EGS offers an interruptible rate which contains a discount from the price of firm service that is sufficiently large to induce the prospective interruptible customer to construct back-up generating capacity in lieu of taking EGS’s firm service, would the introduction of such new capacity by that customer be inefficient?  Please explain the factors which enter into Mr. Gordon’s analysis of this example.
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Response: � FORMTEXT ��–––––�





The answer to this question depends on a number of factors.  In any situation where the addition of new generation is contemplated, the question is whether adding such capacity would result in a lower cost of electricity for all of the company’s customers, taken as a group.  To promote economic efficiency, the interruptible discount selected should reflect the costs avoided as a consequence of that interruptible service, including the value, if any, of avoided capacity requirements.  In many circumstances, these avoided costs will be equal to the market price of electricity.  If the total cost of the new generation is below this level, it will be efficient.  If it exceeds this level, it is likely to be inefficient.  Discounts in a situation of excess capacity would not normally be used to induce investments in generation, although they might appropriately be used for other purposes.
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